
Frame RailsFrame Rails

Bumper Bracket
2007 and older on
outside of frame rails

Tape (4) spacers in place
to outside of bumper bracket
or frame rail depending on model year

Insert 1/2" washers as needed

Access hole
on 2008 and newer

Fish carriage bolt and block
through end of frame rails on
2007 and older models

Existing weld nuts

Remove the (4) bolts (2 per side) on the vertical sides of the frame rails that attach the bumper brackets 1.
to the frame, and return to owner. Note: On 2007 and older models the bumper brackets are on the 
outside of the frame rails. On 2008 and newer models the bumper brackets are inside the frame rails.

To aid installation it helps to tape the 5/8" thick spacers to the outside of the frame or bumper brackets 2.
aligning holes in spacers with weld nuts in frame rails.

Raise the hitch into position and secure with the (4) 14mm bolts and conical washers provided.3.

Note: Insert 1/2" flat washers between the forward mounting flange on the hitch brackets and the 
bottom of the frame rails as needed, to take up space that may be present on some models.

Using the fish wire provided insert the two 7/16" carriage bolts and block plates into the frame rails and 4.
through the forward mounting slots of the hitch brackets. Note: 2007 and older models fish carriage 
bolts in through the rear end of the frame rails. 2008 and newer models utilize the access holes in the 
outside vertical surface of the frame rails.

Secure with the (2) 7/16" flat washers, lock washers and hex nuts provided. Tighten to 50 LB-FT.5.

Tighten 14mm bolts to 100 LB-FT.6.

(4) M14 x 2.00 x 60mm Hex Bolts
(4) 5/8 x 1 x 2-1/2" Spacers
(4) 1/2" Conical Washers
(2) 7/16 x 1-1/2" Carriage Bolts
(2) 7/16-14 Heavy Hex Nuts

(2) 7/16" Lock Washers
(2) 7/16" Flat Washers
(2) 1/4 x 1 x 2" Sq. Hole Block Plates
(1) 7/16" Fish Wire
(4) 1/2" Flat Washers

Thank you for purchasing a Rigid Hitch

REV.

TOOLS REQUIRED:
DRILLS: NONE
WRENCHES: Torque Wrench, 21mm, 22mm, 11/16"

THIS PRODUCT COMPLIES WITH SAFETY
SPECIFICATIONS AND REQUIREMENTS
FOR SAE AND VESC REGULATION V-5
FOR CONNECTING DEVICES AND 
TOWING SYSTEMS. DO NOT MODIFY
THIS PRODUCT. INSTALL ONLY ON 
SPECIFIED VEHICLES IN GOOD 
CONDITION.

HITCH RATING: 6,000 LBS WEIGHT CARRYING, 600 LBS TONGUE WEIGHT / 7,500 LBS WEIGHT DISTRIBUTING, 750 LBS TONGUE WEIGHT. 
WARNING: CONSULT VEHICLE OWNERS MANUAL FOR TOWING RECOMMENDATIONS. DO NOT EXCEED VEHICLE'S RECOMMENDED TOWING 
CAPACITY. THIS PRODUCT IS DESIGNED FOR TRAILER TOWING ONLY AND SHOULD NOT BE USED FOR ANY OTHER PURPOSE.

GIVE THIS INSTRUCTION SHEET TO VEHICLE OWNER

3301 WEST BURNSVILLE PARKWAY
BURNSVILLE, MN 55337

NOTE: INSTALL PARTS LOOSELY UNTIL ALL ATTACHMENTS HAVE BEEN MADE TO VEHICLE

CLASS 4 TRAILER HITCH

Hardware Package:

R3-0871
 Colorado/  Canyon/ Isuzu I Series

9/19


	Sheet1
	Drawing View1


